

# Office of the President of the Philippines PRESIDENTIAL COMMUNICATIONS OFFICE Manila

#### SUPPLEMENTAL BID BULLETIN NO. 1 21 November 2023

## Supply and Delivery of Newspaper for Presidential Communications Office CY 2024 (Early Procurement) (Procurement/Contract No. 2023-PCO-EPA-005)

Anent the Pre-Bid Conference held on **14 November 2023** for the above-cited procurement project by the Bids and Awards Committee, and the inquiries received by the Secretariat thereafter, please be informed of the following clarifications made and the amendments on the Bidding Documents:

All amendments are indicated in red.

### I. Technical Specification

COMMENTS/ CLARIFICATION	ANSWER/RESPONSE
Ongoing Government and Private Contracts:  Whether there are prescribe format in filling of the Statements of all Ongoing Government and Private contracts:  Contract Duration:  Whether to state or write the full specification of the date e.g. (01/01-2024-12-31/2024) or general duration e.g. (1 year)	No prescribed filling format, however ensure that information properly reflects the dates indicated, all spaces filled up and the prescribed template in the bidding document used.  Kindly use the sample bidding form uploaded in the PCO website as reference
Date of Delivery  Whether supplier must input the beginning or the end of the delivery period	
Technical Specifications	Please see attached table below
Request for the number of daily copies.	

SBB No. 1 – Supply and Delivery of Newspaper for Presidential Communications Office CY 2024 (Early Procurement) (Procurement/Contract No. 2023-PCO-EPA-005)
Page **2** of **5** 

Newspaper	Set (Including Holidays)	No. of Copies per annum	Multiplicand based on the No. of Offices Subscribe	Quantity per Annum	
Business Insight - Malaya	Monday to Friday	262	4	1048	
Business Mirror	Monday to Friday	262	4	1048	
	Saturday to Sunday	104	3	312	
Business World	Monday to Friday	262	4	1048	
Daily Tribune	Monday to Friday	262	4	1048	
	Saturday to Sunday	104	3	312	
Manila Bulletin	Monday to Friday	262	4	1048	
	Saturday to Sunday	104	3	312	
Manila Standard	Monday to Friday	262	4	1048	
	Saturday to Sunday	104	3	312	
Manila Times	Monday to Friday	262	4	1048	
	Saturday to Sunday	104	3	312	
Philippine Daily Inquirer	Monday to Friday	262	4	1048	

SBB No. 1 – Supply and Delivery of Newspaper for Presidential Communications Office CY 2024 (Early Procurement) (Procurement/Contract No. 2023-PCO-EPA-005)
Page 3 of 5

	Saturday to Sunday	104	3	312
Philippine Star	Monday to Friday	262	4	1048
	Saturday to Sunday	104	3	312
Abante	Monday to Friday	262	4	1048
	Saturday to Sunday	104	3	312
Abanta Tanita	Monday to Friday	262	4	1048
Abante Tonite	Saturday to Sunday	104	3	312
Bulgar	Monday to Friday	262	4	1048
	Saturday to Sunday	104	3	312
Pang Masa	Monday to Friday	262	4	1048
	Saturday to Sunday	104	3	312
People's Journal	Monday to Friday	262	4	1048
	Saturday to Sunday	104	3	312
People's Tonight	Monday to Friday	262	4	1048
	Saturday to Sunday	104	3	312
Pilipino Star Ngayon	Monday to Friday	262	4	1048

SBB No. 1 – Supply and Delivery of Newspaper for Presidential Communications Office CY 2024 (Early Procurement) (Procurement/Contract No. 2023-PCO-EPA-005)
Page **4** of **5** 

	Saturday to Sunday	104	3	312
Dalias Files Taults	Monday to Friday	262	4	1048
Police Files Tonite	Saturday Only	52	3	156
Remate	Monday to Friday	262	4	1048
T	Monday to Friday	262	4	1048
Tempo	Saturday to Sunday	104	3	312
	QUANTITY			24748

Pursuant to Section 22.5 of the 2016 Revised Implementing Rules and Regulations of Republic Act No. 9184, this Supplemental/Bid Bulletin is issued for the information and guidance of all prospective bidders and shall form an integral part of the Bidding Documents issued for said the project.

Should you have further concerns, you may contact the BAC Secretariat through the details below:

#### **BIDS AND AWARDS COMMITTEE SECRETARIAT**

Presidential Communications Office 7<sup>th</sup> Floor, Times Plaza, UN Avenue Manila Telefax No. (02) 8735-Email: bac1@pco.gov.ph

Website:

https://pco.gov.ph

For information and guidance.

SBB No. 1 – Supply and Delivery of Newspaper for Presidential Communications Office CY 2024 (Early Procurement) (Procurement/Contract No. 2023-PCO-EPA-005)
Page 5 of 5

### Original Signed ASEC. EUGENE HENRY C. RODRIGUEZ

Chairperson
Bids and Awards Committee

Conforme:			
Signature over	printed name		
Designation	:		
Company	:	_	
Date:	:		